	DIRECTIONS: In the passage that follows, certain words and phrases are underlined and numbered. In the right-hand column, you will find alternatives for the underlined part. In most cases, you are to choose the one that best expresses the idea, makes the statement appropriate for standard written English, or is worded most consistently with the style and tone of the passage as a whole. If you think the original version is best, choose "NO CHANGE." In some cases, you will find in the right-hand column a question about the underlined part. You are to choose the best answer to the question. 
	You will also find questions about a section of the passage, or about the passage as a whole. These questions do not refer to an underlined portion of the passage, but rather are identified by a number or numbers in a box. 

For each question, choose the alternative you consider best and fill in the corresponding oval on your answer document. Read the passage through once before you begin to answer the questions that accompany it. For many of the questions, you must read several sentences beyond the question to determine the answer. Be sure that you have read far enough ahead each time you choose an alternative.


	Philosophy and Baseball 

     In the fall of 1967, the Boston Red Sox were
playing in the World Series. I was a freshman at a
	 

	
	1.
A.
NO CHANGE

 

B.
midwestern university then

 

C.
midwestern university

 

D.
university which was in the Midwest
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 Baseball is unique among 
	2.
Which of the following sentences, if inserted at this point, would provide the most effective transition to the second paragraph?

 

F.
Accounting for this kind of behavior is easy.

 

G.
Most of the students in the class were not fond of this instructor.

 

H.
Today, most World Series games are played in the evening.

 

J.
He did a remarkable job, considering how distracted he must have been.



	American sports [image: image2.png]


its ability to appeal to a 
	3.
A.
NO CHANGE

 

B.
as

 

C.
in

 

D.
because



	[image: image3.png]love resembling that of a child



of fable and
legend. Babe Ruth, Ted Williams, Joe DiMaggio,
Roberto Clemente—names like these will echo through
	4.
F.
NO CHANGE

 

G.
love that seems to occur during childhood

 

H.
love like that of children

 

J.
childlike love

The best answer is J, because it avoids unnecessary wordiness and because it logically and clearly places the noun love closest to the prepositional phrase "of fable and legend" that modifies it. Choices F, G, and H are excessively wordy and separate the noun from its prepositional phrase, which unnecessarily clouds the meaning of the sentence.
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trumpet calls to storied battles fought 
	5.
A.
NO CHANGE

 

B.
time like

 

C.
time in which

 

D.
time, which is like



	and won in ages past. [image: image5.png]


When Hank Aaron 
	6.
Which of the following sentences, if added at this point, would most effectively lead the reader from the generalization in the preceding sentence to the specific examples that follow?

 

F.
These heroes of baseball embodied the ancient legends, bringing them to life.

 

G.
Baseball, of course, is not the only sport that provides heroes.

 

H.
Those battles lasted for nine innings, unless a tie led to extra innings.

 

J.
The truly great thing about it is that these men are as human as you or I.



	[image: image6.png]stretched out a sinewy arm Lo pull one down,



 
[image: image7.png]striding up W a rack of ash-her



he became a 
	7.
A.
NO CHANGE

 

B.
strode up to a rack of ash-hewn bats, stretching out a sinewy arm to pull one down,

 

C.
strode up to a rack of ash-hewn bats to stretch out a sinewy arm, pulling one down,

 

D.
pulled one down, stretching out his sinewy arm as he strode up to a rack of ash-hewn bats,



	modern-day knight selecting [image: image8.png]their




lance. And
when glints of the afternoon sun shone off Mickey 
	8.
F.
NO CHANGE

 

G.
there

 

H.
his

 

J.
one's



	Mantle's colossal bat, there [image: image9.png]will have

o



be seen
for one brief, stirring moment the glimmer of the
jewels in King Arthur's own mighty sword, Excalibur.
	9.
A.
NO CHANGE

 

B.
will

 

C.
can

 

D.
could

The best answer is D, which is the only past tense verb. Since the first part of the sentence is in past tense, the rest must be as well. The other choices create improper shifts in tense. Choices A and B are future tense verbs. Choice C is in the present tense.



	     [image: image10.png]


 there he stood, that learned professor of 
	10.
F.
NO CHANGE

 

G.
(Begin new paragraph) To summarize,

 

H.
(Do NOT begin new paragraph) So

 

J.
(Do NOT begin new paragraph) Yet



	mine, lecturing about the [image: image11.png]deas, that




have engaged
people's minds for centuries. Then he'd interrupt
himself to announce, with smiling eyes, that the Sox
had taken a two-to-nothing lead. Here was a 
	11.
A.
NO CHANGE

 

B.
ideas that

 

C.
ideas. That

 

D.
ideas, which



	[image: image12.png]man who's



mind was disciplined 
	12.
F.
NO CHANGE

 

G.
man whose

 

H.
man, who's

 

J.
man that's



	[image: image13.png]inside his schoolbook



to contemplate
the collected wisdom of the ages—and he
was behaving like a boy with a contraband
comic opened. On those warm October days, as 
	13.
A.
NO CHANGE

 

B.
(Place after ages)

 

C.
(Place after boy)

 

D.
(Place after opened and end sentence with a period)

The best answer is D, which places the underlined prepositional phrase in the most logical position in the sentence. Without the prepositional phrase modifying it, opened is unclear. Choice D also represents the most rhetorically effective placement. The other choices place the underlined portion in illogical or awkward places. Choice A makes no sense—it suggests that his "mind was disciplined inside his schoolbook"—and the placement disrupts the sentence flow. Choice B is less rhetorically effective than Choice D. The insertion of the underlined portion after ages inappropriately shifts the sentence's focus to where the "wisdom of the ages" is found. It's also highly unlikely that the "collected wisdom of the ages" would be found inside one schoolbook. Choice C is clearly illogical; the boy could not be inside a schoolbook.



	the afternoon sun [image: image14.png]dances and plays



on the domes
and spires of the university, the philosophers 
	14.
F.
NO CHANGE

 

G.
dances, playing

 

H.
danced and played

 

J.
dancing and playing



	had to stand aside, [image: image15.png]for the professor’s imagination




[image: image16.png]had transported him to the Boston of his youth.




	15.
Which of the alternatives would conclude this sentence so that it supports the writer's principal reflections on the professor's behavior?

 

A.
NO CHANGE

 

B.
due to the fact that the professor was about to hand out a test.

 

C.
while the professor told the class about King Arthur and the Knights of the Round Table.

 

D.
as the professor recounted all the great baseball stars he'd seen play.




